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00000000000 0000000000000000000000000000

DCS-EQU2 |

del ay=2u

R=50

0 1: DCSOO

.SUBCKT DCSEQU2 AIN AQUT Gnd

R1 N5 N3 50 TC=0.0, 0.0
R2 N7 Gnd 50 TC=0.0, O.

T3 N3 Gnd N7 Gnd z0=50
e4 N5 Gnd AIN Gnd 1

e5 AOUT Gnd N7 N3 2
.ENDS

0
td=2u

* Main circuit: TESTDCS1

XBIAS_1 N4 VH1 VL1 VM1
XBIAS_2 N8 VH2 VL2 VM2
XBIAS_3 N2 VH3 VL3 VM3
XBIAS_4 N5 VH4 VL4 VM4
C1 N6 AOUT1 0.01p

C2 TP N6 0.1p

C3 N3 N10 2pF

C4 N10 AOUT2 1pF

C5 Gnd AOUT2 O.5pF
XDCSEQU2_1 AOUT2 ADUT3
.op

XFB5_1 N9 RB1 AOUT1 N6

Gnd BIAS
Gnd BIAS
Gnd BIAS
Gnd BIAS

Gnd DCSEQU

VL2 FB5

00000 ACOO00DO0O00DDO0ODD000000000000000000000
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.global VSS VDD

Xinvi_1 RB2 N1 invil

.options reltol=1.e-7 abstol=1.e-14 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprC_1 N6 AOUT1 VH1 VL1 VM1 prC

XRF2_1 N3 VH3 AOUT1 N3 VL3 VM3 RF2

XSHPR2_1 AOUT2 N10 VM4 VH4 VL4 VM4 SHPR2

i6 VDD N4 100uA

i7 VDD N8 7u

i8 VDD N2 5u

i9 VDD N5 100u

v10 TP Gnd pulse(0 -20m 5u 10n 10n 100u 200u)

v1il RB1 Gnd pulse(-1.65 1.65 1u 10n 10n 100u 200u)

v12 RB2 Gnd pulse(-1.65 1.65 3u 10n 10n 100u 200u)

XSWO_1 N10 N1 AOUT2 SWO

.tran 10n 20u

.print tran v(RB1) v(RB2) v(TP) v(AOUT1) v(AOUT2) v(AOUT3)
* End of main circuit: TESTDCS1
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* Main circuit: TESTDCS2

.ac DEC 20 100 1G

XBIAS_1 N69 VH1 VL1 VM1 Gnd BIAS
XBIAS_2 N68 VH2 VL2 VM2 Gnd BIAS
XBIAS_3 N66 VH3 VL3 VM3 Gnd BIAS
XBIAS_4 N16 VH4 VL4 VM4 Gnd BIAS
C1 AIN AOUT1 0.01p

C2 Gnd AIN 0.001p

C3 N56 N71 2pF

C4 N71 AOUT2 1pF

C5 Gnd AOUT2 0.5pF

XDCSEQU2_1 AQUT2 AOUT3 Gnd DCSEQU
.op

XFB5_1 N65 TH AOUT1 AIN VL2 FB5
.global VSS VDD

.noise v(AOUT3) ins

.print noise onoise onoise(tot)
.options reltol=1.e-8 abstol=1.e-16 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER
XprC_1 AIN AOUT1 VH1 VL1 VM1 prC
R6 AIN N65 1T TC=0.0, 0.0

R7 N71 AOUT2 1G TC=0.0, 0.0
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XRF2_1 N56 VH3 AQUT1 N56 VL3 VM3 RF2
XSHPR2_1 AOUT2 N71 VM4 VH4 VL4 VM4 SHPR2
ins Gnd AIN 0.0 AC 1.0 0.0

i8 VDD N69 100uA

i9 VDD N68 7u

i10 VDD N66 5u

il11 VDD N16 100u

XTHTL_1 TH TL THTL

* End of main circuit: TESTDCS2

gi1boobooboboobooboobooboobobooboboon

U lL.gbooboobooboobobooboobg

gooooogIrP | GateOOO | O0D0OOODODO | Cp=0pF0 | Cp=1pF | Cp =10 pF
PrB 10.4 pF 500 pA
PrB 10.4 pF 100 pA
PrC 1.84 pF 100 pA
PrC 1.84 pF 10 nA
PrD 0.17 pF 10 pA
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R=50

R=50

=5
3

Eos v QCS- EQU FACUT>

Lrso

A
V

0 4: QCSOO

.SUBCKT QCSEQU AIN AOUT Gnd
XidealOP_1 N38 Gnd N41 Gnd idealOP
XidealOP_2 N39 Gnd N40 Gnd idealOP
R1 N36 N37 50 TC=0.0, 0.0

R2 N29 Gnd 50 TC=0.0
R3 N35 N38 50 TC=0.0
R4 N45 N39 50 TC=0.0
R5 N44 N38 50 TC=0.0,
R6 N33 N39 50 TC=0.0
R7 N38 N41 50 TC=0.0
R8 N39 N40 50 TC=0.0, O.
T9 N37 Gnd N21 Gnd z0=50 td=1u
T10 N21 Gnd N30 Gnd z0=50 td=1u
T11 N30 Gnd N29 Gnd z0=50 td=1u
el2 N44 Gnd N21 Gnd 1

€13 N36 Gnd AIN Gnd 1

el4 N33 Gnd N30 Gnd 1

el5 N45 Gnd N29 Gnd 1

O O O O O O ©o

0
0
0
.0
0
0
0
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el6 N35 Gnd N37 Gnd 1
el7 AOUT Gnd N41 N40 1

.ENDS

* Main circuit:

XBIAS_1 N6 VH1
XBIAS_2 N5 VH2
XBIAS_3 N4 VH3
XBIAS_4 N2 VH4
C1 AIN AOUT1 O
C2 TP AIN O.1p
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TESTQCS1

VL1 VM1 Gnd BIAS
VL2 VM2 Gnd BIAS
VL3 VM3 Gnd BIAS
VL4 VM4 Gnd BIAS

.01p
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C3 N3 N8 2pF

C4 N8 AOUT2 1pF

C5 Gnd AOUT2 0.5pF

XDCS22_1 AQUT2 AOUT4 Gnd QCSEQU

.op

XFB5_1 N1 RB1 AOUT1 AIN VL2 FB5

.global Vss Vdd

Xinvi_1 RB2 N9 invl

.options reltol=1.e-7 abstol=1.e-14 numnd=1000
XPOWER_1 VDD VSS Gnd POWER

XprC_1 AIN AOUT1 VH1 VL1 VM1 prC

XRF2_1 N3 VH3 AOUT1 N3 VL3 VM3 RF2

XSHPR2_1 AOUT2 N8 VM4 VH4 VL4 VM4 SHPR2

i6 VDD N6 100uA

i7 VDD N5 7u

i8 VDD N4 10u

i9 VDD N2 100u

v10 TP Gnd pulse(0 -20m 5u 10n 10n 100u 200u)

numnt=100 linearsolver=sparse

v1l RB1 Gnd pulse(-1.65 1.65 1u 10n 10n 100u 200u)
v12 RB2 Gnd pulse(-1.65 1.65 1u 10n 10n 100u 200u)

XSWO_1 N8 N9 AQUT2 SWO
.tran 10n 20u

.print tran v(AOUTX) v(RB1) v(RB2) v(TP) v(AOUT1) v(AOUT2) v(AOUT3) v(AOUT4)

* End of main circuit: TESTQCS1

Oo0oo0o0obDOoolpFOO0DOOODO20mVODO0OO0DOOOO0O0O0ODOOOOOOODOO
oooob0oboobooobobobo0ob0luwsO 119mVOO002wus0 244 mV OO00O0O00O0OO
JusO 140V ODO0O00O0OD0004wsO000O0VOOUODOODOODOOODOODOODOODOOO

* Main circuit: TESTQCS2

.ac DEC 10 10 1G

XBIAS_5 N2 VH4 VL4 VM4 Gnd BIAS
XBIAS_6 N4 VH3 VL3 VM3 Gnd BIAS
XBIAS_7 N1 VH2 VL2 VM2 Gnd BIAS
XBIAS_8 N5 VH1 VL1 VM1 Gnd BIAS
C1 Gnd AOUT2 0.5pF

C2 N16 AOUT2 1pF

C3 N12 N16 2pF

C4 Gnd AIN 0.001p

C5 AIN AOUT1 0.01p

XDCS22_1 AQUT2 AQUT3 Gnd QCSEQU
.op

XFB5_2 N3 TH AOUT1 AIN VL2 FB5

.global VSS VDD

.noise v(AQUT3) ins
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.print noise onoise onoise(tot)

.options reltol=1.e-9 abstol=1.e-18 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER
XprC_2 AIN AOUT1 VH1 VL1 VM1 prC
R6 N16 AQUT2 1G TC=0.0, 0.0
R7 AIN N3 1T TC=0.0, 0.0
XRF2_2 N12 VH3 AQOUT1 N12 VL3 VM3 RF2
XSHPR2_2 AQUT2 N16 VM4 VH4 VL4 VM4 SHPR2
ins Gnd AIN 0.0 AC 1.0 0.0

i8 VDD N2 100u
i9 VDD N4 10u
i10 VDD N1 7u
i1l VDD N5 100uA

XTHTL_1 TH TL THTL
* End of main circuit: TESTQCS2

U2000000000000000000O00DO00O000ODOOOOOOODOAO

U200000000000000000000000

gooooogIrP | GateOOO | O0DOOODOO | Cp=0pF0 | Cp=1pF | Cp =10 pF
PrB 10.4 pF 500 pA
PrB 10.4 pF 100 pA
PrC 1.84 pF 100 pA
PrC 1.84 pF 10 pA
PrD 0.17 pF 10 nA
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* Main circuit: TESTDIFF1

XBIAS_1 N7 VH1 VL1 VM1 Gnd BIAS
XBIAS_2 N4 VH2 VL2 VM2 Gnd BIAS
XBIAS_3 N9 VH3 VL3 VM3 Gnd BIAS
XBIAS_4 N6 VH4 VL4 VM4 Gnd BIAS
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XBIAS_5 N11 VH5 VL5 VM5 Gnd BIAS

C1 N5 AQUT1 0.01p

C2 TP N5 0.1p

C3 N8 N10 1pF

C4 N10 AOUT2 0.4pF

C5 N13 N12 1pF

C6 N12 AOUT3 0.4pF

.op

XFB5_1 N1 RB1 AOUT1 N5 VL2 FB5

.global VSS VDD

Xinvi_1 RB2 N14 invl

.options reltol=1.e-8 abstol=1.e-16 numnd=1000 numnt=100 linearsolver=sparse
XPOWER_1 VDD VSS Gnd POWER

XprC_1 N5 AQUT1 VH1 VL1 VM1 prC

XRF2_1 N8 VH3 AOUT1 N8 VL3 VM3 RF2

XRF2_2 N13 VH3 AOQUT2 N13 VL3 VM3 RF2

XRF2_3 N12 VH5 AOUT3 N12 VL5 VM5 RF2

XSHPR2_1 AQUT2 N10 VM4 VH4 VL4 VM4 SHPR2

XSHPR2_2 AQUT3 N12 VM4 VH4 VL4 VM4 SHPR2

i7 VDD N7 100uA

i8 VDD N4 7u

i9 VDD N9 1.25u

i10 VDD N6 100u

i1l VDD N11 0.5u

v12 TP Gnd pulse(0 -20m 5u 10n 10n 100u 200u)

v13 RB1 Gnd pulse(-1.65 1.65 1u 10n 10n 100u 200u)
v14 RB2 Gnd pulse(-1.65 1.65 3u 10n 10n 100u 200u)
XSWO_1 N10 N14 AQUT2 SWO

.tran 10n 20u

.print tran v(RB1) v(RB2) v(TP) v(AOUT1) v(AOUT2) v(AOUT3)
* End of main circuit: TESTDIFF1

OoooooooolpFO00O0OooOooD20myV000D0ODOOODOOOOOOOOOODODOO
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* Main circuit: TESTDIFF2

.ac DEC 10 100 1G

XBIAS_6 N23 VH5 VL5 VM5 Gnd BIAS
XBIAS_7 N5 VH4 VL4 VM4 Gnd BIAS

XBIAS_8 N22 VH3 VL3 VM3 Gnd BIAS
XBIAS_9 N4 VH2 VL2 VM2 Gnd BIAS

XBIAS_10 N7 VH1 VL1 VM1 Gnd BIAS
Cl1 Gnd AOUT3 0.4pF

C2 Gnd N3 0.001p
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C3 N6 AQUT3 0.4pF

C4 N9 N6 1pF

C5 N11 AQUT2 0.4pF

C6 N14 N11 1pF

C7 N3 AOUT1 0.01p

.op

XFB5_2 N1 TH AOUT1 N3 VL2 FB5

.global VSS VDD

.noise v(AOUT3) ins

.print noise onoise onoise(tot)
.options reltol=1.e-8 abstol=1.e-16 numnd=1000
XPOWER_2 VDD VSS Gnd POWER

XprC_1 N3 AOUT1 VH1 VL1 VM1 prC

R8 N3 N1 1G TC=0.0, 0.0

R9 N11 AOUT2 1G TC=0.0, 0.0

XRF2_5 N6 VH5 AOUT3 N6 VL5 VM5 RF2
XRF2_6 N9 VH3 AOUT2 N9 VL3 VM3 RF2
XRF2_7 N14 VH3 AOUT1 N14 VL3 VM3 RF2
XSHPR2_4 AOUT3 N6 VM4 VH4 VL4 VM4 SHPR2
XSHPR2_5 AQUT2 N11 VM4 VH4 VL4 VM4 SHPR2
ins Gnd N3 0.0 AC 1.0 0.0

i10 VDD N23 0.5u

i11 VDD N5 100u

i12 VDD N22 1.25u

i13 VDD N4 7u

i14 VDD N7 100uA

XTHTL_1 TH TL THTL

* End of main circuit: TESTDIFF2
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g3booboobobooboobooboobooboboobo

U3 gbooboobooboboobo

oooooQoIpP | GateOOO | OO0OOOO0O |Cp=0pF0O | Cp=1pF | Cp=10pF
PrB 104 pF 500 pA 87.7e 96.8e 229e
PrB 104 pF 100 pA 98.1e 115e 352e
PrC 1.84 pF 100 pA 40.8e 54.2¢ 241e
PrC 1.84 pF 10 pA 50.1e 88.4e 522e
PrD 0.17 pF 10 pA 26.5¢ 82.8e 752e
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